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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-6_0
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P3-6

BrE) | GEBAK () | ERE (EH/R) (XS R

02:05 182 100.0 & BRi%@02:05 (K FAIERES)
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07:35 182 100.0 & Fn#e07:35 (REERES)
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10:35 182 100. 0 & FiHA@10:35 (KREAERHE)
11:30 182 100.0 & FHAe11:30 (REAHEREZ
12:25 182 100.0 5 FilRe12:25 (GRAAERHE)
13:20 182 100.0 & FnHe13:20 (KREERES)
14:20 182 100.0 & FnHfe14:20 (REERES)
15:30 182 100.0 5 FiH#Ae15:30 (KREEREE)
23t 2002.0 (11%) 1100.0 3 3HKEC: 1840.0, PH: 6.0

unusual large postFgEt from yesterday (364), set to 300.0 ml.
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P3-6
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P3-6
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23t]1120.0 (8%) 640.0 EWHKEC: 1840.0, PH: 5.8

large discrepency for begining water status (120:246.0), set to 145.0 ml.
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21+ 1260.0 (9)%) 630. 0 32 3KEC: 1840.0, PH: 5.7

RER i ERECKIR TR K.

FH[EKECE (2280.0 vs 3232.0) 1R

RER B HEREC/PHEERK, A

sk B
BETS

MR R ZE




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=21 (2025-04-19)

60 VI.VAsERV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 455 484
390 370 808 400 T
40 15 °
E
- 200 =
20 &
Warning: lcol [FVI',| "FVO’'] missing
0 0
0 L0
100 J VI —— ME $30.0
FRV maxM
75 L 27.5
----------------------------- Yt .=
50_ | ] - - - —2502
25 - ! I || I I I L 22.5
1.0 20.0
U
0.8 -
0.6 -
0.4 -
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2300. 0,  TargetSetEC=1840.0 t
0.6 -
0.4 -
0.2 -
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.7 N
0.6 -
0.4 -
0.2 -
Warning: lcol ['PHB’,| 'PHC’'] missing
900 - : 1000
Bylnit @D25: 02:51: ET=444 [Fg=490.0 Ro=95.0 t —
150 : - 750 €
I o—o e
100 - | &—eo 500 E
l o
50 i - 250 E
b — o —& :0 3
[)
20T 7 1 213 12151671 718 ]9 0ol 1211411611718 1972712 |22 23200
B | BB | FB | BB | BB | BE | BH | BB | B | M& 5 5 5 5 5 5 5 5 i 5 5 5 i 5 o~
150 4 1 -750 £
ByEt @D21 18:41: ET=531 Fg=380.0 Ro=nan 1 =
~N
100 - -900 &
'—
50 - - 250 £
———0————— o
ﬂ——f——./ —
203517 1 213 1215161 718 ]9 0] T2 1411617181972 7122 [ 230200
FA [A A FA EREAREAEEAEEAEEA NG 5 5 5 5 5 EAREAEEAEZA R EIRERS 150 o~
150 4 I . £
ByWoFv @D25: 02:51: ET=484 |[Fg=630.0 Ro=112.0 PA g_
~N
100 - : - 500 E
1
'—
50 ! . ~- - 250 &
— HEEE ;
1
1.0 S . lo PN e e R 0
0 1 2 3 4 5 6 7 8 9 [ 10 11 [ 12 ] 13 [ 14 [ 15 [ 16 | 17 [ 18 | 19 [ 20 [ 21 | 22 | 23
0sl B W | B | W | W [B22232152122| % | & | & | | & | @ | B 525252122 B | B 5=
0.6 -
0.4 -
0.2 -
0.0
1500 - | ¢

80 -

60

40

20 -

[ ] | _obs
—@— PPFD obs

RH
[ ] RH_obs
(] RHo_obs




23.75 A

23. 50 A

—~o—

23. 25 A

23. 00 A

Yy

22.75

22. 50 A

T
600

700
m=750,n FV0=0

T
800

22.

22.

22.

22.

22.

22.

—O—

M_E

765
m=600,n FV0=0

T
760

—o— MW
35.

35.

35.

35.

34.

600

605

610

23.

23.

23.

23.

22.

23.

22.

22,

22.

22.

35.

35.

34.

34.

m=510, FV0=0

——

M_E

510

5%5
m=810,n FV0=0

T
520

——

M_E

810

815
m=660,n FV0=0

T
820

—— MW

660

665

670

m=600, FV0=0

23. 4

23. 3 A

23.2 A

23.1 -

23.0 A

—o— ME

605

610

36

35 -

34

33 -

32 -

—o— MW

660 760
m=750,n FV0=0

T
800

33.6

33. 4 -

33. 2 -

33.0

—— MW

750 755

760

23.

23.

23.

23.

23.

22.

22.

36.

36.

36.

35.

35.

35.

32.

32.

32.

32.

m=660, FV0=0

20

15 1

10 4

05 -

00 -

95

90

—0—

M_E

T
660

665
m=510,n FV0=0

T
670

1T —e— mw

T
510

5%5
m=810,n FV0=0

T
520

1T —e— mw

810

815

820




